(EZE3—1) (68FND3)

FRES £16
wﬂl?ﬁr‘%ﬁ’tﬁ%&ﬁ&&i
FRA ] Fh-ERE X RFHRE
BEERISBIESEIR E4=k T ¥ EHREME) ERE-&)
EANE
HH A HEA & | & E i E
B |k | BR ok [ ER] i
B OEEE 2 2 |"EREIR-EEHICONT
=5 ==t > 2 (j)z.ﬁiﬁ_zxéi%#ﬂﬂﬁb\
=LLEall L2 N EEIE
XZFEGE 3 3
) (2)3ERITERIRF:
sprmeEs R - 2 B Syt 4l
R S 2 2 |-TEBEHRBEELST
*e= ] 2 o |EMIICBZD
& B 3 3 |mmwminsiocas
o e HFI 27 0-2 E’;Jtﬁ_%%@ﬂ%l’aﬁ(sﬁﬁ)
# BEA 2 N 2 |I<®zx3
Iz B 2 — 0-2
# FC 2= o-2
2 MEER 2 2
X L ER 2 2
2 = EpE 27 || 02
?ﬁ e B 2 2
. *5 3 3 2 8
*.4 REAE e 1 1 5
5= EE 1 2 2
EEFEO=Sa—4H—aviI| 3 3
HEISIa—4H—1avl 2 2 4
e PRI I 2 7] 0:2
WIE-RED 2~ 0-2
REE REEERE 2 - 2
15$R &R I (2)
#ER B O 20 | 15 | 0-2|| 13 [0-2:a| 2530
: TR 3 3
v ERRETY 3 3
5 EE 3 3 6
+ ET 2 2
i< T HiEREE 2 2 — 2:4
o B EEEH 2 | 2 4
" 70y 53y 2 3 2- 5:7
g N=FITHET 3 u 3
2 b7 il 2 2 2-4
& IV 14V AT LB 3 3
: 1 e 33:35
B TERBDE 9 121 0-2 [ 12 |0-2:4] o0 o0
INET 29 | 27 2 25 4 87
BALEE | h—LIL—LFES | 1 1 1 3
RERTIER DEE (3)
A&t 30 30 30 90




